

(1)
I think of a number, add 4, divide by 3, then multiply by 5.

The final answer is 25.  What is the number I am thinking about?

(2)
If I double my age, add 4, divide by 5, then take away 2 I get the age 

at which I first voted (18).  How old am I now?

(3)
Uncle Jed had a sheep farm in New Zealand with 205 sheep ready to 

be sheared.  I sheared a few sheep, my brother sheared 30 more than me, and Uncle Jed sheared 121 more than my brother.  How many sheep did we each shear?

(4)
Joy invited Nicola and Amy for a sleepover.  They both took with 

them their favourite CDs.  Joy added her CDs, giving them 64 CDs altogether.  Nicola had nine more than Amy, and Amy had 14 more than Joy.  How many CDs did each girl have at the sleepover?
(5)
The length of a rectangle is twice as long as its width.  Its perimeter 

is 36 cm.  What is the area of the rectangle?

(6)
Multiplying a number by 3 and adding 4 is equal to subtracting the number from 28.  What is the number?

(7)
Catherine’s age and her mother’s age when added together makes 83.  In two years time, Catherine’s mother will be twice as old as Catherine.  How old are they both now?
(8)
Helen and James had between them 161 CDs.  James went to a party and lost five of his CDs, which meant that Helen now had exactly twice as many as James.  How many CDs does each have now?
(9)
Brian and Gillian went to Germany, taking between them 750 euros.  Gillian spent three times as much as Brian.  When they arrived home, they found that they had just 20 euros less than Brian had spent in Germany.  How much did they both spend in Germany?
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(10)
Steve was doing a survey in the local supermarket car park, noting the ages of the cars coming in to park.  He categorised every car to be either old or modern.  Steve noticed that at 10 am there were exactly 100 cars in the car park, but at five past ten, when four more old cars had driven in, there were now three times as many old cars as modern cars.  How many modern cars were in the car park at 10 am?

(11)
If I double my age and subtract four, I get the same answer as if I add 48 to it.  What is my age?

(12)
It takes my son 28 minutes longer than me to wash a car.  I can wash three cars in the same time that it takes my son to wash one car!  How long does it take my son to wash a car?

(13)
Three data-entry workers were employed to enter 6660 items of data into a computer data bank.  
Kathryn could enter twice as much data per hour as Lisa.  Sally could enter 150 more items than Lisa.  Between them, they entered all the data in 6 hours.  What were the number of items per hour that each worker could enter?


Extension work
(1)
Charlie is a milkman.  He takes ten fewer bottles out on a Tuesday than he does on a Monday.  He takes 50 more bottles out on a Wednesday than a Tuesday.  He takes two more bottles out on a Thursday than on a Monday.  He takes ten less on a Friday than he does on a Monday.  He takes out twice as many on a Saturday than he does on a Friday.  In one week he will take out 800 bottles.  How many does he take out each day?
(2)
A, B and C are the three angles in a triangle.  Angle A is twice the size of angle B.  Angle B is 20( bigger than angle C.  What is the size of each angle?
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